## coinbase

## **Transaction report for Raihana Fathima Mohamed Umar**

You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, and Rewards Income, and Coinbase Earn transactions are taxable events. For final tax obligations, please consult your tax advisor.

Date range	Filter	Customer
From: 2020-01-01T00:00:00Z	Type: all	muraihana@gmail.com
To: 2021-01-01T00:00:00Z	Asset: all	5fad7b13dfd3741513f9ebe2

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-11-13T20:00:15Z	Buy	ВТС	0.0003076	16303.34	\$5.01	\$5.01	Bought 0.0003076 BTC for \$5.01 USD
2020-11-23T23:36:21Z	Convert	ВТС	0.0003076	18368.01	\$5.53	\$5.65	Converted 0.0003076 BTC to 0.0091191 ETH
2020-11-22T04:37:392	Z Receive	ETH	0.60947506	547.78			Received 0.60947506 ETH from an external account
2020-11-23T18:02:22Z	Sell	ETH	0.60947506	592.44	\$361.08	\$355.70	Sold 0.60947506 ETH for \$355.70 USD
2020-11-23T22:47:56Z	Buy	ETH	0.53834311	611.06	\$328.96	\$333.86	Bought 0.53834311 ETH for \$333.86 USD
2020-11-23T23:10:33Z	Convert	ETH	0.53834311	608.52	\$316.48	\$327.59	Converted 0.53834311 ETH to 510.98486 XRP
2020-12-16T16:40:432	Z Convert	ETH	0.0091191	628.35	\$5.52	\$5.73	Converted 0.0091191 ETH to 28.07037464 NU
2020-11-23T18:00:17Z	Sell	MKR	0.3357625	587.44	\$197.24	\$194.25	Sold 0.3357625 MKR for \$194.25 USD
2020-11-23T22:47:32Z	Buy	MKR	0.27784344	609.52	\$169.35	\$172.34	Bought 0.27784344 MKR for \$172.34 USD

100 Pine Street, Suite 1250 San Francisco, CA 94111

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-11- 23T23:09:36Z	Convert	MKR	0.27784344	606.71	\$164.28	\$168.57	Converted 0.27784344 MKR to 265.251119 XRP
2020-12-10T22:33:58	Z Coinbase Earn	MKR	0.0037944	527.56	\$2.00	\$2.00	Received 0.0037944 MKR from Coinbase Earn
2020-12-10T22:36:102	Z Coinbase Earn	MKR	0.00379069	526.52	\$2.00	\$2.00	Received 0.00379069 MKR from Coinbase Earn
2020-12-10T22:38:202	Z Coinbase Earn	MKR	0.00379875	526.52	\$2.00	\$2.00	Received 0.00379875 MKR from Coinbase Earn
2020-12-15T19:10:57Z	Convert	MKR	0.05063354	538.58	\$26.41	\$27.27	Converted 0.05063354 MKR to 130.71774514 NU
2020-11-16T05:34:16Z	' Coinbase Earn	ZEC	0.01596951	62.95	\$1.01	\$1.01	Received 0.01596951 ZEC from Coinbase Earn
2020-11-16T05:37:392	Z Coinbase Earn	ZEC	0.01597903	62.98	\$1.01	\$1.01	Received 0.01597903 ZEC from Coinbase Earn
2020-11-16T05:39:442	Z Coinbase Earn	ZEC	0.01597816	62.98	\$1.01	\$1.01	Received 0.01597816 ZEC from Coinbase Earn
2020-11-23T23:35:18Z		ZEC	0.0479267	79.29	\$3.70	\$3.80	Converted 0.0479267 ZEC to 0.00015089 YFI
2020-11- 22T06:04:20Z	Receive	XRP	400.9	0.430000			Received 400.9000 XRP from an external account
2020-11-22T06:11:39Z	Convert	XRP	400.9	0.440000	\$171.01	\$174.81	Converted 400.9000 XRP to 0.00752079 YFI
2020-12-15T19:11:39Z	Convert	XRP	776.235979	0.480000	\$360.73	\$372.83	Converted 776.235979 XRP to 1,785.37399575 NU
2020-12- 10T22:43:06Z	Coinbase Earn	XLM	12.1144574	0.160000	\$1.94	\$1.94	Received 12.1144574 XLM from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12-10T22:46:15Z	Z Coinbase Earn	XLM	12.1365115	0.160000	\$1.94	\$1.94	Received 12.1365115 XLM from Coinbase Earn
2020-12-10T22:49:16Z	Z Coinbase Earn	XLM	12.1533264	0.160000	\$1.94	\$1.94	Received 12.1533264 XLM from Coinbase Earn
2020-12-10T22:53:422	Z Coinbase Earn	XLM	12.1512589	0.160000	\$1.94	\$1.94	Received 12.1512589 XLM from Coinbase Earn
2020-12-10T22:56:31Z	Z Coinbase Earn	XLM	12.1446181	0.160000	\$1.94	\$1.94	Received 12.1446181 XLM from Coinbase Earn
2020-12-13T19:08:03	Z Convert	XLM	60.7001723	0.170000	\$10.33	\$10.61	Converted 60.7001723 XLM to 46.16920291 NU
2020-12-15T19:10:09Z	Z Convert	DASH	0.03913684	97.35	\$3.68	\$3.81	Converted 0.03913684 DASH to 18.22135943 NU
2020-12-10T21:15:37Z	Coinbase Earn	COMP	0.01944895	151.98	\$2.96	\$2.96	Received 0.01944895 COMP from Coinbase Earn
2020-12-10T22:06:16Z	Z Coinbase Earn	COMP	0.01979806	151.34	\$3.00	\$3.00	Received 0.01979806 COMP from Coinbase Earn
2020-12-10T22:09:312	Z Coinbase Earn	COMP	0.01982554	151.34	\$3.00	\$3.00	Received 0.01982554 COMP from Coinbase Earn
2020-12-10T22:29:427	Z Convert	COMP	0.05907255	151.00	\$8.81	\$8.92	Converted 0.05907255 COMP to 47.85530462 NU
2020-12- 10T00:03:26Z	Coinbase Earn	BAND	0.14422106	6.94	\$1.00	\$1.00	Received 0.14422106 BAND from Coinbase Earn
2020-12- 10T00:03:54Z	Coinbase Earn	BAND	0.14374012	6.94	\$1.00	\$1.00	Received 0.14374012 BAND from Coinbase Earn
2020-12- 10T00:04:23Z	Coinbase Earn	BAND	0.14374012	6.94	\$1.00	\$1.00	Received 0.14374012 BAND from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12- 10T22:30:00Z	Convert	BAND	0.4317013	6.49	\$2.77	\$2.80	Converted 0.4317013 BAND to 15.03392785 NU
2020-12-18T02:55:077	Z Coinbase Earn	CGLD	1.19796346	1.67	\$2.00	\$2.00	Received 1.19796346 CGLD from Coinbase Earn
2020-12-18T02:57:32Z	Z Coinbase Earn	CGLD	1.19796346	1.67	\$2.00	\$2.00	Received 1.19796346 CGLD from Coinbase Earn
2020-12- 18T02:58:39Z	Coinbase Earn	CGLD	1.19789171	1.67	\$2.00	\$2.00	Received 1.19789171 CGLD from Coinbase Earn
2020-12-18T06:08:412	Z Convert	CGLD	3.59381863	1.65	\$5.80	\$5.94	Converted 3.59381863 CGLD to 0.00021919 YFI
2020-11-22T18:44:20Z		YFI	0.00752079	26337.66	\$194.05	\$198.08	Converted 0.00752079 YFI to 0.3357625 MKR
2020-11-30T18:51:07Z	Convert	YFI	0.00015089	26708.20	\$3.91	\$4.03	Converted 0.00015089 YFI to 1.04771925 UNI
2020-12-13T18:46:44Z	Convert	YFI	0.00078747	26781.97	\$20.69	\$21.09	Converted 0.00078747 YFI to 0.0392497 MKR
2020-12-19T08:13:22Z	Convert	YFI	0.00021919	27647.25	\$5.93	\$6.06	Converted 0.00021919 YFI to 17.86428868 GRT
2020-12- 02T19:45:20Z	Convert	UNI	1.04771925	4.01	\$4.13	\$4.20	Converted 1.04771925 UNI to 0.03913684 DASH
2020-12-11T07:57:30Z	Convert	NU	95.04135055	0.190000	\$17.71	\$18.11	Converted 95.04135055 NU to 0.00078747 YFI
2020-12-16T04:08:312	Z Convert	NU	1980.48230323	0.200000	\$393.00	\$403.82	Converted 1,980.48230323 NU to 76.47864115 SNX
2020-12-16T17:54:49Z	Convert	NU	28.07037464	0.220000	\$6.19	\$6.15	Converted 28.07037464 NU to 3.87457125 BNT

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12-10T22:14:10Z	Coinbase Earn	FIL	0.06509887	30.69	\$2.00	\$2.00	Received 0.06509887 FIL from Coinbase Earn
2020-12-10T22:17:01Z	Coinbase Earn	FIL	0.06530378	30.66	\$2.00	\$2.00	Received 0.06530378 FIL from Coinbase Earn
2020-12-10T22:20:33Z	' Coinbase Earn	FIL	0.06531018	30.66	\$2.00	\$2.00	Received 0.06531018 FIL from Coinbase Earn
2020-12- 10T22:29:06Z	Convert	FIL	0.19571283	30.71	\$5.92	\$6.01	Converted 0.19571283 FIL to 32.15211808 NU
2020-12-19T08:13:03Z	Convert	BNT	6.80131778	1.42	\$9.51	\$9.67	Converted 6.80131778 BNT to 28.63406201 GRT
2020-12-18T02:49:32Z	' Coinbase Earn	GRT	7.8125	0.130000	\$1.02	\$1.02	Received 7.8125 GRT from Coinbase Earn
2020-12-18T02:50:57Z	Z Coinbase Earn	GRT	7.83085356	0.130000	\$1.02	\$1.02	Received 7.83085356 GRT from Coinbase Earn
2020-12-18T02:52:28Z	Coinbase Earn	GRT	7.84929356	0.130000	\$1.02	\$1.02	Received 7.84929356 GRT from Coinbase Earn
2020-12- 18T06:06:33Z	Convert	GRT	23.49264712	0.180000	\$4.06	\$4.16	Converted 23.49264712 GRT to 2.92674653 BNT
2020-12-19T21:16:37Z	Buy	GRT	824.07526691	0.489000	\$403.00	\$409.00	Bought 824.07526691 GRT for \$409.00 USD
2020-12-18T06:07:41Z	Sell	SNX	76.47864115	5.45	\$416.48	\$410.27	Sold 76.47864115 SNX for \$410.27 USD